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Mix-Freeze-Match: Math Vocabulary 
 

Purpose: 
This game gives students an opportunity to use 5

th
 grade 

mathematical vocabulary from the Operations and Algebraic 

Thinking & Numbers and Base Ten Domains. 

 

How To Play: 
 

*Pass out one card to each student.   

*Teacher says “Mix!” & students stand up, walk around and 

trade cards with other students.  Before they can trade 

cards they must read their cards aloud to their partner 

(Ex: I have “The unknown value is 98.”).  This will help 

develop fluency with reading and using these mathematical 

terms.  They must continue to trade cards with as many 

students as possible until teacher says “Freeze!”  

*When teacher says “Freeze!” all students stop. 

*Teacher says “Match!” & students need to find the card 

that corresponds with their card.  When they have found 

their partner, the pair of students will sit down together. 

*Quick check…have student pairs stand up and share their 

cards, the rest of the class determines if their pairing is 

or is not accurate and discuss why/why not. 

 



  

   

   

   

Which 

expression 

shows 7? 

 

(18/2) – (9-7) 

Which 

expression 

shows 2? 

Which 

expression 

shows 2 ¾ ? 

 

15/5 – 7/7 

 

(7 x 1/4) + 2/5 + 3/5 



   

   

   
 

7 times the 

sum of 8 and 5 

 

7 x (8 + 5) 

9 times the 

difference of 

176 and 97. 

6 times as large 

as the product 

of 7 and 13. 

 

9 x (176 - 97) 

 

6 x (7 x 13) 



   

   

   
  

The difference 

between the product 

of 5 and 6 and the 

sum of 18 and 24. 

 

10³ x 47 
The unknown 

value is  

47,000 

 

105 x 13 

 

(5 x 6) - (18 + 24) 

The  

unknown value  

is 1,300,000 



   

   

   
 

1/10 of 7 

centimeters 

is… 

The  

unknown value  

is 7 millimeters. 

 

1/100 of 3 

meters is… 

The unknown 

value is  

3 centimeters. 

 

1 kilometer is 

1,000 times as 

big as 1… 

The unknown 

value is 

1 meter. 

 



   

   

   
 

10,000 is .1  

of… 

The unknown 

value is 

100,000. 

 

48,100 is .1 

of… 

The unknown 

value is 

481,000. 

 

.01 of 27 

is… 
The unknown 

value is 2.7. 

 



   

   

   
 

The ordered  

pairs generated from  

A, start with 0 add 1.  

B, start with 0 add ¾  

are… 

 

(0,0),  (1, ¾), 

(2, 1 ½), (3, 2 ¼) 

 

(1,3), (3,7), 

(5,11), (7,15) 

 

(0, 1),  (.1, 1.7), 

(.2, 2.4),  (.3, 3.1) 

The ordered  

pairs generated from  

A, start with 1 add 2.  

B, start with 3 add 4  

are… 

The ordered  

pairs generated from  

A, start with 0 add .1.  

B, start with 1 add .7  

are… 
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This item is a paid digital download from our TPT Store: 

https://www.teacherspayteachers.com/Store/Teaching-One-Moore. 

 
As such, it is for classroom use only.  This item is also 

bound by copyright laws and redistributing, editing, selling 

or posting this item (or any part thereof) on the Internet 

are all strictly prohibited without first gaining permission 

from the author.  Violations are subject to the penalties 

of the Digital Millennium Copyright Act.   

 

Please contact us if you wish to be granted special 

permissions!  Thank you! 

tpt@teachingonemoore.org 
 

https://www.teacherspayteachers.com/Store/Teaching-One-Moore
mailto:tpt@teachingonemoore.org

